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1. EEYIISY L [BWAY+2WAY] ==& (H1210 x W2000 - SB5SZ) £&XIBA "H2H'S (EL HIEH 72)
PN S ©139.8%4.5tx2500 1| 2 118,000 118,000 118,000 118,000
SAXF ©125%4.3tx 700 1| 2 27,100 27,100 27,100 27,100
2Way 3l L 350% 4tx 4330 05 & 176,800 88,400 176,800 88,400 (OlE3 T 2MEE D
3Waydl 460%3.2tx 4330 05 & 231,000 115,500 231,000 115,500 [0teiE3 T= SMER D
=230t 389x4.3tx 624 1| M 37,200 37,200 37,200 37,200
Xz ©139.88 1| M 2,400 2,400 2,400 2,400
SIAHUDE B/N ®19x180 3| AE 1,600 4,800 1,600 4,800
DF B/N ©18x40 4| HE 700 2,800 700 2,800
etz B/N ®16x33 10| S E 400 4,000 400 4,000
E [O3[E=1:1)) 400,200 - - 400,200 |2024.01 J12H2+ P.264
B DA Sgog 0.038 | ¢ 219,321 8,355 219,321 8,355 |+ZAEA1
2E08 0.019 | ¢ 167,081 3,182 167,081 3,182 |+zasA1
EIERP Sgog 0.134 | ¢ 219,321 29,447 219,321 29,447 |szuEM2
2E08 0.067 | ¢ 167,081 11,216 167,081 11,216 |+2asM2
WS (Z0IH Z&)  |0.6m° 0.038 | hr 24,610 935 56,874 2,161 34,509 1,311 115,993 4,407 [JI=OOH, 2BUEM3
goeg 2.5ton 0.105 | hr 6,846 718 48,742 5117 6,169 647 61,757 6,482 |JIEUIDI2, +MENS
I8 QI EZ 9| 5% 1] A 2,610 2,610 2,610 2,610
AA(ERHI) 4,263 59,478 1,958 65,699
A 404,463 59,478 1,958 465,899
*'m'e &I} 465,899 |/ 2m = 232,950
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2. HR(EFEHE H1210 = 58) 4XZM "NA'SY (HER HIEgH 221 - Ay
RS ®139.8x4.5tx 2500 0.5 = 83,000 41,500 83,000 41,500
EINES ®125x4.3tx700 0.5 = 22,000 11,000 22,000 11,000
2way A=Y 350x765x4.0T 1| oM 88,000 88,000 88,000 88,000 [0I9EE T ZHER Jbs (MSAE)
Sway A=Y 460%865%3.2T 1| oM 108,000 108,000 108,000 108,000 |OleIE3 E= SMER s (MeAra)
g80t2 389%4.3tx 624 0.5 & 40,300 20,150 40,300 20,150
NESEL! ®139.88 0.5 M 2,300 1,150 2,300 1,150
HAUDH B/N ®19x180 1.5/ ME 2,100 3,150 2,100 3,150
03 B/N ®18x40 4| HE 1,100 4,400 1,100 4,400
Al B/N ®16x33 10| HE 900 9,000 900 9,000
AH (B 286,350 - - 286,350
NESEPAL:] sgolg 0.02 | @ 219,321 4,167 219,321 4,167 |EET22 50%
g0 0.01 | ¢ 167,081 1,587 167,081 1,587 |E=722 50%
Al & x| sgolg 0.07 | ¢ 219,321 14,716 219,321 14,716 |B=72t2l 50%
g0 0.03 | o 167,081 5,613 167,081 5,613 |E=T22 50%
S (2 0IH Z&)  |0.6m° 0.02 | hr 24,610 467 56,874 1,080 34,509 655 115,993 2,202 |BERAC 50%
guey 2.5ton 0.05| hr 6.846 359 48,742 2,558 6,169 323 61,757 3,240 |EET2H0l 50%
3R QI Z 0| 5% 1 Al 1,304 1,304 1,304 1,304
A (LR HI) 2,130 29,721 978 32,829
2 288,480 29,721 978 319,179
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3. HRE(EZH HI210 = 52) X2AH"HA'Y (MES HEH 221 - 22y Y
X = ©139.8x4.5tx2500 05 = 83,000 41,500 83,000 41,500
2AXF ®125%4.3tx700 05 = 22,000 11,000 22,000 11,000
2way iR Y 350x965x4.0T 1 M 140,000 140,000 140,000 140,000 |0toi=3 £ 2HEE Ibs (HEALE)
3way iR Y 460%965x3.2T 1 M 160,000 160,000 160,000 160,000 |0toi=3 £ 2HEE Ibs (HEALE)
EEIUSS 389x4.3tx624 0.5 & 40,300 20,150 40,300 20,150
NESL! ©139.88 0.5 K 2,300 1,150 2,300 1,150
HZDH B/N ®19%x180 1.5| HE 2,100 3,150 2,100 3,150
03F B/N ®18%x40 4| ME 1,100 4,400 1,100 4,400
Aol B/N ®16%33 4| ME 900 3,600 900 3,600
2A (KB HI) 384,950 - - 384,950 [2024.01 HeHIHA P.264
XI=&X sgog 0.02| ¢ 219,321 4,167 219,321 4,167 |EEFA2 50%
250 0.01| o 167,081 1,587 167,081 1,587 |E=729 50%
EIERSBALT sgog 0.07| ¢ 219,321 14,716 219,321 14,716 |EE222 50%
2502 0.03 | o 167,081 5,613 167,081 5,613 |EE722 50%
S (=013 Z8)  0.6m3 0.02 | hr 24,610 467 56,874 1,080 34,509 655 115,993 2,202 |EZ7229l 50%
HuE2 2.5ton 0.05 | hr 6,846 359 48,742 2,558 6,169 323 61,757 3,240 |Ez722l 50%
ZRe2 QI ZE 0| 5% 1 A 1,304 1,304 1,304 1,304
AH(EXIHI) 2,130 29,721 978 32,829
A 387,080 29,721 978 417,779
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« 1S HE : 24D((EH0I01, 0.6m°, LHESJI0IH Z&)-"AI2H'Y
Seraus 0.6m° 1 hr 25,681 25,680 25,681 25,680 | e o b o oo
CEERVES 0.6m’ 1| hr 8,829 8,829 8,829 8,829 |20 el e o
3R 0.001W% S 1.6 | 1,711 19,847 1,711 19,847 |2024.09 HeHt24 P.1451
e FHZO| 24% 0.24| A 19,847 4,763 19,847 4,763
HEIIH2HE A 0.208 2l 272,996 56,874 272,996 56,874 |[12I1FAlIZIxA O H 2=x5 X H 2==(1/8)x(16/12)x(25/20)
2 24,610 56,874 34,509 115,993
* N2 H : @I E2(2.5ton)-"'Al2H'Y
3R 0.001W% S 29| | 1,711 4,961 1,711 4,961 |2024.09 H2H2t2{ P.1451
e F129| 38% 0.38] A 4,961 1,885 4,961 1,885
StEX2 A A 0.208 | ¢l 233,960 48,742 233,960 48,742 |1LIIF A0 i SxF X i 4=(1/8)x(16/12)x(25/20)
p| 6,846 48,742 6,169 61,757
* UG}
Sgo= 2024.9.101% 1 « - 219,321 219,321 219,321 219,321
gso= 2024.9.101% 1 « - 167,081 167,081 167,081 167,081
ALIHETA 2024.9.101% 1 « - 272,996 272,996 272,996 272,996
SIS XS H A 2024.9.101% 1 « - 233,960 233,960 233,960 233,960
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2= 72 e ag o g D
ssole  |201x2m/420mea 0.038 ol B o
e 20241 HHETANEEEM(HEI2ALE3]) P.745
A=<t SR L0IC0l ME 2= 300%
SEois  |101x2m/420ma 0.019 ol
Swois  |(401%2m/440m+421%2m/520m)*4 0.134 ol o
— 20243 HHETAEEEM(HEIA L 3]) P.745
g« BE L0IS0l ME 2= 300%
SEols  |(201%2m/440m+221%2m/520m)*4 0.067 ol
N CENE ) 0.6m° 194/2107Hx8 A1 2+ 0.038 he |20044 AL BNEEEM(E2A L) P.745
1 T *2m/420mxB Al 2+ 0.038 e |20044 AL BNEEEA(E2A L) P.745
EH 2.5ton
1 Ch*(2m/440m-+2m/520m)x8 Al 2+ 0.067 e |20044 AL BNEEEA(EALES) P.745




